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Secondly, the English language

Choose the correct answer from a, b, ¢ or d:

1
a

[\

#

& W

Qo

' P R I need some water.
tall b. thin c. thirsty d. hungry

e ey

RS to read a book.

y0es b. going C. 20 d. to go
g going g g

Wedidin't e b . a mountain yesterday,
help b. study g, climb d. clean

CWhEL e 15 1t? — it’s seven o’clock
. kind b. time C. size d. color

L RAEIE o e out the rubbish.
. made b. fed . took d. set

mmm——
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Fourthly science part

Choose the correct answer:

1-Light rays .............. when they transfer between two different transparent media.
a. Separate

b. Reflect

c. Refract

d. Absorb

2-We use .......... To separate a mixture of oil and water.
a. Evaporation

b. Filter paper

c. Separating funnel

d. Attraction .
3-Predation relationship cause ........... the number of prays.
a. Duplicate

b. Reduce

c. Staple

d. Extinct

4-The twisted wire used in electromagnet is made from ......
a. Aluminum

b. Carbon

c. Copper

d. Iron



Fifthly :Mathematics part

Choose the correct answer froma, b ,cord:

(1)The shaded part in the opposite figure represents : &
a) Mo b) XU 'Y L <

~, iw‘*\
S d)Y - X & Q >

Q138 A= g0=
a) 1354.2 b) 1.3542
c) 13.542  d)135.42

(3)32X1.25=3.2X......

br 05 Bl 125 P an s d) 0.125
(s, 0
a) € b) & cle e

(5) The probability of impossible event = .................

b); c) Zero d) 1

1
a) E
(6) The line joins between any two points on the circle is called ............

a) Diameter b) Radius ¢) Altitude d)Chord

(7) If the altitudes of a triangle intersected inside this triangle , then the triangle is

a) Right angled triangle b)Acute angled triangle

b) Obtuse angled triangle  c) Isosceles triangle
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Secondly, the English language

Choose the correct answer from a, b, ¢ or d:

.Salma ....... a prize, yesterday.

b. saw C. won d. bought

2. Letme o you, Salwa.
a. helping b. helps e help d. to help

3. She is going to ...... fried rice.
a. has b. having c. have d. had

| S ———

4.1 like Kebab. It’s ..............
a. bad b. heavy c. far d. delicious

5. They're pomg todrink ... ..

a. biscuit b. lemonade c. salad d. chicken
___-—q—-—d_
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Fourthly science part

Choose the correct answer:
1-The solvent in a chocolate milk mixture is ........
a. Water
b. Milk
c. Chocolate
d. Sugar
2- A relationship where one living organism benefits from the other one and the other one
is harmed.
a. Predation
b. Parasitism

c. Symbiosis

d. Saprophytism

3-The materials that allow most light to pass through are ........
a. Transparent

b. Semi-transparent

c. Opaque

d. Opaque and Semi-transparent

4-The power of attraction to iron fillings reduce in ......
a. North pole

b. The middle

c. South pole
d. The two poles



Fifthly :Mathematics part

(1) B.8785 e ( to the nearest thousandths )
a) 9.877 b) 9.876 c) 9.87 d) 9.887
(2) 345-+15=3.45 + ...
a) 15 ) 1.5 c) 450 d) 0.15
3)F{X,3}={3,2} thenX = oo,
(a)5 (b) 3 gl 2 d) 1
(@) 1L35Y% ... -235.4
a0 (c) 100  (d) 1000
(BH1 22 3 et L
(@0 (b){1,2,3} Gepdil, 3} (d) {2}

6)The probability of sure event = ......

(a)% (b)§ (c)Zero  (d)1

.......................

(7) The line joins between the center of the circle and any point on the circle is called

a) Diameter  b) radius c) chord d) altitude
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Secondly, the English language

Choose the correct answer from a, b ¢c or d:

by Bl il .. i flowers in the spring.

a. play b. plant ¢c. build d. eat

2. Mohamed can’t walk. Hecan .........

a. crawl b. run C. go d. help

By e, 1 is my favourite subject.

a. Blue b. Fall C. English d. Summer
4, Did he climb the............ ?

a. table b. sunrise ¢. cards d. mountain.

()]

. Lastweek, I ..., ciiane the museum in Cairo.

a. visits b. visit c. visited d. visiting

crm—————
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Fourthly science part
Choose the correct answer:
1-We can see objects because of light ...........
a. Reflection

b. Refraction

c. Absorption

d. Separation

2-..ccoon. |s from the magnetic materials.
a. Copper

- Iron_

c. Aluminum

d. Rubber

3-The living organism that devours other organism is called ..
a. Parasite

b. Host

c. Pray

d. Predator

4-When we mix more than one type of particles, the result material is called .oo..........
a. Element

b. Compound

c. Mixture

d. Solvent



Fifthly :Mathematics part

(2)The chord that passes through the center of the circle Is called ..o
a) Altitude b) diameter c) radius d) side length

(3)The number of altitudes of the right angled triangle = ...........
a) 1 b) 2 ¢ 3 d) Zero

a) 2 b)3 c) 5 d) 7

a) Zero b)Y c) X d) @

(7) A box contains 10 electric lamps , 3 of them are damaged, if one of them is
drawn randomly , then the probability that the drawn lamp is a good lamp =

a) 0.10 b)0.3  ¢)0.7 d) 0.13




